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EFRAS R H S
2022 4 10 B
Y& AE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.003 - 0.088 0.008 &
LA i 1.512 0.083 - 0.517 0.165 =
/L&, (HCI) 4,545 0.033 - 0.399 0.212 =
mIbE (HF) 0.306 0.006 - 0.141 0.044 =
— &b (SO2) 15.147 0.002 - 3.858 2.276 =
—4&bi% (CO) 7.578 0.007 - 0.284 0.094 g
HELY (NOx)
PL—&/EE (NO2) 30.303 0.988 - 6.842 1.955 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.005 - 0.020 0.008 &
LA 0.756 0.111-0.238 0.167 =
/L4, (HCD 0.756 0.070 - 0.300 0.209 =
wAbE (HF) 0.072 0.025 - 0.054 0.044 =
&R (SO2) 3.789 1.765 - 2.535 2.275 =
—&Ei% (CO) 3.789 0.087 - 0.103 0.094 g
HAY (NOx)
DL E/EE (NOY) 15.147 1.735-2.199 1.956 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) =ED)
() FREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0051 &
IR R g ) 7.575x 10°° <5.577 x 1010 =
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EFRAS R H S
2022 4 10 B
Y& AF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.003 - 0.221 0.005 &
LA i 1.512 0.012 - 0.608 0.104 =
/L4, (HCI) 4,545 0.059 - 0.366 0.227 =
mIbE (HF) 0.306 0.005 - 0.083 0.044 =
— &b (SO2) 15.147 0.004 - 3.570 2.281 =
—4&bi% (CO) 7.578 0.000 - 0.120 0.026 g
HELY (NOx)
PL—&/EE (NO2) 30.303 0.600 - 7.584 1.983 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.004 - 0.012 0.005 &
LA 0.756 0.038 - 0.190 0.104 =
ZF/bE (HCI) 0.756 0.175 - 0.292 0.227 s
wAbE (HF) 0.072 0.035 - 0.050 0.044 =
&R (SO2) 3.789 1.839 - 2.546 2.279 =
—&Ei% (CO) 3.789 0.006 - 0.072 0.026 g
HAY (NOx)
DL E/EE (NOY) 15.147 1.136 - 2.894 1.982 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
(c) FEREN (HE{LEBFTER)
K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0051 &
IR R g ) 7.575 x 10°° <5.670 x 1020 &
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EFRAS R H S
2022 4 10 B
Y& BE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.002 - 0.014 0.002 &
LA i 1.512 0.000 - 0.738 0.091 =
/L4, (HCI) 4,545 0.011 - 0.816 0.185 =
mIbE (HF) 0.306 0.001 - 0.103 0.051 s
— &b (SO2) 15.147 0.011 - 8.416 2.454 =
—4& kbR (CO) 7.578 0.000 - 0.188 0.057 =
HELY (NOx)
PL=&dE%E (NO2) 30.303 1.097 - 13.710 2.548 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.002 - 0.003 0.002 &
LA 0.756 0.022 - 0.208 0.091 =
#F/bE (HCI) 0.756 0.061 - 0.415 0.184 s
wAbE (HF) 0.072 0.033 - 0.056 0.050 s
— &b (SO2) 3.789 1.539 - 2.871 2.457 =
—&Ei% (CO) 3.789 0.005 - 0.094 0.056 =
HAY (NOx)
DL=%AEE (NO2) 15.147 1.595 - 5.268 2.546 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0047 &
IR R g ) 7.575 x 10°° <5.380 x 1020 &
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EFRAS R H S
2022 4 10 B
Y& BF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETIREN AR EE)
(A 2.277 0.003 - 0.170 0.008 &
LA i 1.512 0.008 - 0.819 0.114 =
/L4, (HCI) 4,545 0.003 - 0.325 0.186 =
mIbE (HF) 0.306 0.001 - 0.114 0.056 =
— &b (SO2) 15.147 0.000 - 9.502 2.194 =
—4&bi% (CO) 7.578 0.001 - 0.189 0.060 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.013-17.331 2.430 =
s E
(b)|[FFEEEEH — HIME (HMFEHIRENLAGRE)
(A 0.756 0.005 - 0.030 0.009 &
LA 0.756 0.019 - 0.230 0.115 =
Z/LE (HCI) 0.756 0.022 - 0.241 0.183 s
wAbE (HF) 0.072 0.006 - 0.062 0.055 s
— &b (SO2) 3.789 0.719 - 3.131 2.168 =
—&Ei% (CO) 3.789 0.016 - 0.104 0.062 =
HAY (NOx)
DL=%AEE (NO2) 15.147 1.226 - 4.403 2.435 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0056 &
IR R g ) 7.575 x 10°° <6.169 x 1020 &
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